ch 22 88 T &5
ROTATING PEATFORMS

DG 3

NDG3R3!

168



B A2
T HIZ 5

* FIARZEILAVAE
SRR ENERLE S L

s FESHMENRE
MELMR R SR (ZRERTL)

s RESMRERENRE

SREEUAR (REBRERE) BEIRTEERILIAE (WERERE)

169



=B A2
T HiZ 5

* BHINZEAE

PEREFESRIIR S IUKERZE » MTZREXRTCR CFREDLZE
Rt R ERETNEEHEERRE -

¢ FEEIR

EREREESRER - TP EREES LEHBDENEEHR - IREE
KB EE R EMERNEERIRSRIR IS HEBES - BREHGER
ETHER  ALREHBENEEHLRE -

N

170



DGER ZE [jE §
ROTATING PLATFORMS

BEZF] Technical Data

Y
5 Y

VAN
el

DG60 DG85 DG130 DG200
R By Ef28iE S IE42AESE IEHR60IES IEHR86IE S &

R ER BRI R BEF
B AREFiEsE N.m 0.9 2.8 12 50
RS JUETIRR rpm 200
TELE 1:18
BEEMEE sec +15 +15 +15 +15
ERERERE min 3 3 3 3
BEBERE min 6 6 6 6
R NES N 100 500 2000 4000
NFEHES N.m 2 10 50 100
e aERE mm +0.03 +0.015
RS FarNN)EIRE mm +0.03 +0.015
feiEFeETE mm +0.05 +0.03 +0.05
SEEEE V/phase 4.6 2.15 2.2 2.95
TS Alphase 0.67 1.68 3 6
4= EIFE Q/phase 6.8 1.28 1.1 0.65
LB mH/phase 4.9 2.2 1.98 6.7
RAEIETI%E N.m 0.093 0.52 0.7 45
EBEXIEE g.cm? 12 77 200 1600
EERE mm 45 48 56 78
EE KG 0.6 1.2 2.7 9.6

REOBRRE -

* NEFEEAR -

RS EE S E NVRIRE - SRS - BFEEETEN - BELLSHFEHELTER -

* RENHFER -

KIBRSR B R E T BN R R -

* EEEMEE :

RE—FEREEITEMNER—UBISFTELRREE -

* FEFiBEEEH -

FENNEEREEHFEENRINMRILDEIER - FHREESFSIERNAE - IEMEEITERINE
RINExHEMSBECBTHBEENSE

171



DGF

- (Unit:mm)

22 e BS &
ROTATING PLATFORMS

I~

VAN
=

87
55 32
10 ,LT ﬁ_fz
[ I
Q
<
S
-
» s I RN S
N
B
Q
GEED (U
o o 8
1 o & =
S} Lg (S
NI o
3T —
Bl —J— \;2-M2.5X4.0DP.
13
48 355

172

245

36
|

60

2-@5+0.01x6 DP.

¥
)

6-M4X8 DP.
23
2-M2.5X4 DP.
28
85
78
k22
s, 4- @65
2-05.0
6.0 DP.
o v
N~ [Ce]
N
o
6-M4X8.0 DP.
P.C.D. 862501
2-M2.5X4.0 DP.
N\



N ZE fie

DGF

Y
£

) L\
=

ROTATING PLATFORMS
- (Unit:mm)

130
1200.1
110£0.5
15 " @
& 104+0.03 w
S ~ ~| @
d 5 o
38z g 3 e
g| €
(S - ~
~
0 S ©
«© ™
w0
[ ] | 3
13 6-M5*8.0DP
| PCD 21040.1
55 38.5
60 2-M2.5*4.0DP
@& (unitmm)
200
170
65 4-911.0
Fixed Part 155
] 15r ’_é, Rotating Part 9214
. 8.5 |
I Z= %
|
P E— L1 2- (8.0+0.01
i / RESO
1 —
| \
| |
| i I S
A IR M 1 B =1 2 =) _ ? I _ ,Ffi S
T~ 35| sl & I o
| N~
} } \ | , -~ 2
| | :
& 8 | 0 ! / S
T 1 o
| > / -
d | N
] A =
I L R I Mz-mz.sx RE 4.0 Lt
13 3 ‘ 6-M6X REE10.0
I:]] 1 * 2-M2.5X FEEA0 ) P.C.D. @155.0£0.2
I
78 . 14
143 85




NDGHZENREE T S =2/ 5E53)
ROTATING PLATEORMS (Replace servo motor)

[4B8EZ$] Technical Data

R BEfiI NDG85 NDG130 NDG200

T~ 421 | 100w 60{E | 400W 861 | 750W
SERZE | ACHIR | SERE | ACIHIR | TERE | ACHIR

R Cross Rolier bearing
R AILETEERE N.m 2.8 12 50
igrEs kg.m2 12593 x 107 81556 x 107 361220 x 107
RETFTIER rpm 250 (R EEER)
BRLE 1:12
EREMRBE sec +15
EREAERE min 3
B NES N 500 2000 4000
A E (=) N.m 10 50 100
e eERE mm +0.015
REFERAMNERE mm +0.015
eEERTE mm +0.03 +0.05
REFR IP64
E2 KG 1.1 2.6 9.4

174




NDGRZEREY 5 @zzanr  s£53)
ROTATING PLATFORMS (Replace servo motor)

@BEEETER) (Unitmm)

85
78
V)
NN 70
X
@ | —4-065
my % !
= =N,
2-05.0
17'5 f " 6.0 DP.
\
o
777777777? E e | - [ee] o
A o K
32 /
- . 2 ,
<.
— T’
S
| 8 2N
N
O =
S i =
.
\
‘ 6-M4 X80 DP.
P.C.D. @62.5+0.1
3 9.5
235 12 2-M2.5X 4.0 DP.
67.5

DEESEEED (unitmm)

85
78
V)
&5 70
X
Q —4-065
my % '
2-05.0
17'5 (" 6.0 DP.
o
I B I B ol o
32 A 0
28 | b3
%.
e@
! [3e]
| o]
L |
SR | = U
IR
| ( )
|| 6-M4X80 DP.
P.C.D. 62.5+0.1
3 9.5
23.5 12 2-M25X4.0 DP.
67.5

175



NDGHZENREE T S =2/ 5E53)
ROTATING PLATEORMS (Replace servo motor)

GNBESS0D  (Unit:mm)

130
38.5 120+0.1
14
1.5 D75 110£0.2 £
= V*T
I
AE }
—————— o
M25 }
| N
o
“:J ‘3} 3 3 - N5
s 9 s S ONT TR 2 @
T S S 2w
I o 7T g
315 | > ©
o L |
3 1
1o I
. | L w
° - -
e S B
; }77 o __ | e —
| ) —6-M5+8.0DP
. - ) PCD@104£0.1
5
—— \2-M2.5*453E
38
76.5
QNDGZO0 (Ui
200.0
64.0:03 186.0
X 170.0:05 X 45110
15.0 22.0
2 155.0:0.03 / K
“
|85 , .
j L=\
l 4
I D R 2-8.0+0.01
i ey
|
I HERE o
| 3l 2235 o o @
-+ ={ =] =S = ¢ B 3 2
| S| 3| | © I o
| ol Ql Q| - g
b <
° N
5 &
3 I PR R s =
7 | e 2
[
] X \{i}
o 1 2-M2.5X4.0 DP.
8 © 6-M6X10.0 DP.

3.0

176

14.0
2-M2.5X4.0 DP.

P.C.D.@155.0£0.2

90.0




